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QUESTION 1

Given the code fragment: 

Which two code fragments, when inserted at line n1 independently, result in the output PEEK: Unix? 

A. .anyMatch (); 

B. .allMatch (); 

C. .findAny (); 

D. .noneMatch (); 

E. .findFirst (); 

Correct Answer: CE 

 

QUESTION 2

Given: 

and 

Which interface from the java.util.function package should you use to refactor the class Txt? 

A. Consumer 
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B. Predicate 

C. Supplier 

D. Function 

Correct Answer: C 

Reference: https://docs.oracle.com/javase/8/docs/api/java/util/function/package-summary.html 

 

QUESTION 3

Assume customers.txt is accessible and contains multiple lines. 

Which code fragment prints the contents of the customers.txt file? 

A. Stream stream = Files.find (Paths.get ("customers.txt")); stream.forEach((String c) -> System.out.println(c)); 

B. Stream stream = Files.find (Paths.get ("customers.txt")); stream.forEach( c) -> System.out.println(c)); 

C. Stream stream = Files.list (Paths.get ("customers.txt")); stream.forEach( c) -> System.out.println(c)); 

D. Stream lines = Files.lines (Paths.get ("customers.txt")); lines.forEach( c) -> System.out.println(c)); 

Correct Answer: D 

 

QUESTION 4

Given the definition of the Vehicle class: 

Which action encapsulates the Vehicle class? 

A. Make the Vehicle class private. 

B. Make the name variable public. 

C. Make the getName() and setName() method public. 

D. Make the name variable private. 
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E. Make the getName() and setName() method private. 

Correct Answer: B 

 

QUESTION 5

Given: 

public class Counter { 

public static void main (String[ ] args) { 

int a = 10; 

int b = -1; 

assert (b >=1) : "Invalid Denominator"; 

int = a / b; 

System.out.println (c); 

} 

} 

What is the result of running the code with the -ea option? 

A. -10 

B. 0 

C. An AssertionError is thrown. 

D. A compilation error occurs. 

Correct Answer: C 
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